
 

 
 

Created with One Click LCA 

ENVIRONMENTAL PRODUCT DECLARATION 
IN ACCORDANCE WITH EN 15804+A2 & ISO 14025 / ISO 21930 
 
Empire shower enclosure range 
Macro Design AB 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 

EPD HUB, HUB-2364 

Published on 22.12.2024, last updated on 22.12.2024, valid until 21.12.2029 

 

Source NOBB, 3/9/2025



 

  2  Empire shower enclosure range 

 

Created with One Click LCA 

GENERAL INFORMATION 

MANUFACTURER 

Manufacturer VP-001 Macro Design AB 

Address VP-002 Sven Hanssons gata 1, 312 96 Laholm, Sweden 

Contact details VP-003 info@macrodesign.se 

Website www.macrodesign.se 

EPD STANDARDS, SCOPE AND VERIFICATION 

Program operator EPD Hub, hub@epdhub.com 

Reference standard EN 15804+A2:2019 and ISO 14025 

PCR EPD Hub Core PCR Version 1.1, 5 Dec 2023                        

Sector Construction product 

Category of EPD Third party verified EPD 

Scope of the EPD Cradle to gate with options, A4-A5, and modules 
C1-C4, D 

EPD author VP-004 Louise Ulf, Macro Design AB 

EPD verification Independent verification of this EPD and data, 
according to ISO 14025: 

 Internal verification  External verification 

EPD verifier VP-055 Haiha Nguyen, as an authorized verifier acting 
for EPD Hub Limited 

The manufacturer has the sole ownership, liability, and responsibility for the 
EPD. EPDs within the same product category but from different programs may 
not be comparable. EPDs of construction products may not be comparable if 
they do not comply with EN 15804 and if they are not compared in a building 
context. 

 

 

PRODUCT 

Product name VP-007 Empire shower enclosure range 

Additional labels - 

Product reference See annex 2 

Place of production VP-008 Kaiping, China 

Period for data VP-013 Calendar year 2022 

Averaging in EPD VP-024-C Multiple products 

Variation in GWP-fossil for A1-A3 C -15, +45 % 

ENVIRONMENTAL DATA SUMMARY 

Declared unit 1 kg 

Declared unit mass 1 kg 

GWP-fossil, A1-A3 (kgCO2e) 5,01E+00 

GWP-total, A1-A3 (kgCO2e) 4,77E+00 

Secondary material, inputs (%) 1.07 

Secondary material, outputs (%) 36.7 

Total energy use, A1-A3 (kWh) 17.1 

Net freshwater use, A1-A3 (m3) 0.04 



 

  3  Empire shower enclosure range 

 

Created with One Click LCA 

PRODUCT AND MANUFACTURER 

ABOUT THE MANUFACTURER 
Macro Design is a Swedish bathroom supplier with 40 years of experience in 
the bathroom industry and has established a strong and esteemed brand for 
the mid- and premium segments. We offer one of the widest ranges of 
shower solutions in the Nordic region, providing a comprehensive selection 
of showers, bathroom furniture, washbasins, taps, lighting, toilets, and 
bathtubs.  Innovation, attractive design, and functionality are the 
cornerstones of Macro Designs product development.  
Our ambition is to always stay one step ahead and create products with that 
extra touch, without losing focus on user-friendliness and quality.  
We prefer to work with classical materials in the manufacture of our products, 
such as tempered glass, moisture-resistant wood, and solid oak and ash.  
Our commitment lies in delivering timeless and sustainable designs of elegant 
bathroom furniture. Developed by Macro Design to withstand daily wear and 
maintain its high quality for many years to come. 

PRODUCT DESCRIPTION VP-009 
Empire is a range of shower enclosure units with a smart, robust design and 
raw industrial elements. It´s made of 6 mm tempered clear glass, surrounded 
by aluminium profiles.   
The Empire showers enclosures offer the option of including or excluding 
detachable muntins. The muntins are placed on the outside of the shower 
enclosure for easier cleaning and are made of aluminium, just like the profiles.  
The Empire shower enclosure range is of high quality and easy to install, with 
a height of 201 cm and features reversible doors.  
CE marked product.  
  
Further information can be found at: 
https://www.macrodesign.se/sortiment/duschar/duschhornor/empire-
duschhorna/ 

 

PRODUCT RAW MATERIAL MAIN COMPOSITION VP-010 

Raw material category Amount, mass % Material origin 

Metals 18 China 

Minerals 81 China 

Fossil materials 1 China 

Bio-based materials 0 - 

BIOGENIC CARBON CONTENT VP-028-C 
Product’s biogenic carbon content at the factory gate 

Biogenic carbon content in product, kg C 0 

Biogenic carbon content in packaging, kg C 0.068963433 



 

  4  Empire shower enclosure range 

 

Created with One Click LCA 

FUNCTIONAL UNIT AND SERVICE LIFE 

Declared unit VP-011 1 kg 

Mass per declared unit VP-012 1 kg 

Functional unit - 

Reference service life - 

SUBSTANCES, REACH - VERY HIGH CONCERN VP-027-C 
The product does not contain any REACH SVHC substances in amounts greater 
than 0,1 % (1000 ppm). 
  



 

  5  Empire shower enclosure range 

 

Created with One Click LCA 

PRODUCT LIFE-CYCLE 

SYSTEM BOUNDARY 
This EPD covers the life-cycle modules listed in the following table. 

Product stage Assembly 
stage 

Use stage End of life stage Beyond the 
system 

boundaries 

A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

x x x x x M
N

D 

M
N

D 

M
N

D 

M
N

D 

M
N

D 

M
N

D 

M
N

D 

x x x x x 

R
aw

 m
aterials 

Tran
sp

o
rt 

M
an

u
factu

rin
g 

Tran
sp

o
rt 

A
sse

m
b

ly 

U
se

 

M
ain

te
n

an
ce

 

R
e

p
air 

R
e

p
lace

m
e

n
t 

R
e

fu
rb

ish
m

e
n

t 

O
p

eratio
n

al en
ergy u

se
 

O
p

eratio
n

al w
ater u

se
 

D
e

co
n

stru
ctio

n
/ d

e
m

o
litio

n
 

Tran
sp

o
rt 

W
aste

 p
ro

ce
ssin

g 

D
isp

o
sal 

R
e

u
se

 

R
e

co
ve

ry 

R
e

cyclin
g 

Modules not declared = MND. Modules not relevant = MNR 

MANUFACTURING AND PACKAGING (A1-A3) VP-018 
The environmental impacts considered for the product stage cover the 

manufacturing of raw materials used in the production as well as packaging 

materials and other ancillary materials. Also, fuels used by machines, and 

handling of waste formed in the production processes at the manufacturing 

facilities are included in this stage. The study also considers the material 

losses occurring during the manufacturing processes as well as losses during 

electricity transmission. 

 

The shower enclosure is made of tempered flat glass, aluminium profiles, 

metal hinges, plastic elements and metallic screws. The components are 

manufactured in China and delivered to the manufacturers site. The  

 

 

manufacturing process requires electricity, the process is only assembly of the 

components. A wooden pallet, cardboard, polyethylene packaging film and 

EPS are used as packaging materials for transporting the shower enclosure to 

the dedicated market place.  

TRANSPORT AND INSTALLATION (A4-A5) 
Transportation impacts occurred from final products delivery to construction 

site (A4) cover fuel direct exhaust emissions, environmental impacts of fuel 

production, as well as related infrastructure emissions. 

 

Average distance of transportation from production plant to retailers site is 

assumed as 20 786 km and the transportation method is assumed to be lorry 

and container ship. Vehicle capacity utilization volume factor is assumed to 

be 1 which means full load. In reality, it may vary but as role of transportation 

emissions in total results is small, the variety in load is assumed to be 

negligible. To be conservative, empty returns are included in this study as 

implemented through an average load factor in the Ecoinvent transport 

datapoints. Transportation does not cause losses as product is packaged 

properly.   

  

Environmental impacts from installation into the building include generation 

of waste packaging materials (A5) and release of biogenic carbon dioxide from 

wood pallets/cardboard boxes. Plastic-based packaging and wood pallets are 

assumed to be incinerated, and cardboard is assumed to be recycled, as the 

most common scenarios in Sweden. The impacts of material production, its 

processing and its disposal as installation waste are also included. Electricity 

consumption for installation of the shower enclosure is considered, too. 

  



 

  6  Empire shower enclosure range 

 

Created with One Click LCA 

PRODUCT USE AND MAINTENANCE (B1-B7) VP-043-C 
The use phase is not accounted into the assessment because it is not 

applicable. 

Air, soil, and water impacts during the use phase have not been studied. 

PRODUCT END OF LIFE (C1-C4, D) VP-049-C 
Consumption of energy for dismantling is considered. It is assumed that the 

waste is collected separately and transported to the waste treatment facility. 

Transportation distance to waste treatment plant is assumed to be 50 km and 

the transportation method is assumed to be lorry (C2). Module C3 accounts 

for energy and resource inputs for sorting and treating of steel, aluminium 

and zinc alloy for recycling, and incineration of plastic materials with energy 

recovery with efficiency greater than 60%. Additionally, waste that is 

landfilled is included in Module C4. Due to the material and energy recovery 

potential of parts in the product and in packaging, recycled raw materials lead 

to avoided virgin material production and the energy recovered from 

incineration replaces electricity and heat from primary sources. Benefits and 

loads from incineration and recycling are included in Module D. 

 



 

  7  Empire shower enclosure range 

 

Created with One Click LCA 

MANUFACTURING PROCESS AND SYSTEM BOUNDARY 

VP VP-019 
  



 

  8  Empire shower enclosure range 

 

Created with One Click LCA 

LIFE-CYCLE ASSESSMENT 

CUT-OFF CRITERIA VP-020 
The study does not exclude any modules or processes which are stated 
mandatory in the reference standard and the applied PCR. The study does not 
exclude any hazardous materials or substances. The study includes all major 
raw material and energy consumption. All inputs and outputs of the unit 
processes, for which data is available for, are included in the calculation. 
There is no neglected unit process more than 1% of total mass or energy 
flows. The module specific total neglected input and output flows also do not 
exceed 5% of energy usage or mass. 

ALLOCATION, ESTIMATES AND ASSUMPTIONS VP-050-C 
Allocation is required if some material, energy, and waste data cannot be 
measured separately for the product under investigation. All allocations are 
done as per the reference standards and the applied PCR. In this study, 
allocation has been done in the following ways: 
 

Data type Allocation 

Raw materials No allocation 

Packaging material No allocation 

Ancillary materials Not applicable 

Manufacturing energy and 
waste 

Allocated by mass or volume 

AVERAGES AND VARIABILITY VP-026-C 

Type of average Multiple products 

Averaging method Representative product 

Variation in GWP-fossil for A1-
A3 

-15, +45 % 

 
This is an average EPD based on a representative product. The range is based 
on a minimum case and a maximum case. The minimum case is product 
DESK125SKL Fixed wall black clear glass 125 cm and the maximum case 
product is DESK75SLI Fixed wall fluted glass without muntins without handle 
with wall support 75 cm. See Annex 1 for scaling table and Annex 2 for all 
covered SKUs. 
 

LCA SOFTWARE AND BIBLIOGRAPHY  
This EPD has been created using One Click LCA EPD Generator. The LCA and 
EPD have been prepared according to the reference standards and ISO 
14040/14044. The EPD Generator uses Ecoinvent v3.8, Plastics Europe, 
Federal LCA Commons and One Click LCA databases as sources of 
environmental data. 
 
 



 

  9  Empire shower enclosure range 

 

Created with One Click LCA 

ENVIRONMENTAL IMPACT DATA 

CORE ENVIRONMENTAL IMPACT INDICATORS – EN 15804+A2, PEF VP-029-C 

Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

GWP – total1) kg CO2e 4,84E+00 1,33E‐02 ‐8,94E‐02 4,77E+00 3,77E‐01 2,82E‐01 MND MND MND MND MND MND MND 1,67E‐03 9,29E‐03 1,75E‐02 6,47E‐03 ‐2,83E+00 

GWP – fossil kg CO2e 4,84E+00 1,33E‐02 1,62E‐01 5,01E+00 3,77E‐01 2,93E‐02 MND MND MND MND MND MND MND 1,66E‐03 9,28E‐03 1,75E‐02 6,47E‐03 ‐2,65E+00 

GWP – biogenic kg CO2e 0,00E+00 0,00E+00 ‐2,53E‐01 ‐2,53E‐01 0,00E+00 2,53E‐01 MND MND MND MND MND MND MND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ‐1,70E‐01 

GWP – LULUC kg CO2e 8,51E‐03 5,42E‐06 7,93E‐04 9,31E‐03 2,26E‐04 5,85E‐06 MND MND MND MND MND MND MND 2,47E‐06 3,78E‐06 6,69E‐06 5,97E‐06 ‐5,42E‐03 

Ozone depletion pot. 
kg CFC-

11e 
2,75E‐07 2,93E‐09 1,11E‐08 2,89E‐07 7,89E‐08 5,90E‐10 MND MND MND MND MND MND MND 8,15E‐11 2,05E‐09 5,07E‐10 1,98E‐09 ‐1,11E‐07 

Acidification potential mol H+e 3,64E‐02 5,50E‐05 8,49E‐04 3,73E‐02 7,98E‐03 4,11E‐05 MND MND MND MND MND MND MND 9,47E‐06 3,84E‐05 5,29E‐05 5,49E‐05 ‐2,15E‐02 

EP-freshwater2) kg Pe 2,37E‐04 1,12E‐07 8,18E‐06 2,46E‐04 1,99E‐06 3,14E‐07 MND MND MND MND MND MND MND 2,06E‐07 7,83E‐08 2,27E‐07 8,52E‐08 ‐1,47E‐04 

EP-marine kg Ne 6,15E‐03 1,61E‐05 3,42E‐04 6,51E‐03 1,99E‐03 1,24E‐05 MND MND MND MND MND MND MND 1,18E‐06 1,12E‐05 1,29E‐05 1,90E‐05 ‐3,25E‐03 

EP-terrestrial mol Ne 6,81E‐02 1,77E‐04 2,31E‐03 7,06E‐02 2,21E‐02 1,30E‐04 MND MND MND MND MND MND MND 1,34E‐05 1,24E‐04 1,41E‐04 2,07E‐04 ‐3,93E‐02 

POCP (“smog”)3) 
kg 
NMVOCe 

2,05E‐02 5,40E‐05 6,27E‐04 2,12E‐02 5,83E‐03 3,61E‐05 MND MND MND MND MND MND MND 3,70E‐06 3,77E‐05 4,10E‐05 5,97E‐05 ‐1,04E‐02 

ADP-minerals & 
metals4) 

kg Sbe 5,03E‐04 4,63E‐08 8,04E‐07 5,03E‐04 8,41E‐07 6,28E‐08 MND MND MND MND MND MND MND 1,45E‐08 3,22E‐08 4,70E‐07 2,04E‐08 ‐4,26E‐04 

ADP-fossil resources MJ 5,32E+01 1,93E‐01 2,32E+00 5,57E+01 5,05E+00 8,55E‐02 MND MND MND MND MND MND MND 3,33E‐02 1,34E‐01 5,94E‐02 1,47E‐01 ‐2,69E+01 

Water use5) m3e depr. 1,43E+00 8,43E‐04 8,59E‐02 1,52E+00 1,83E‐02 6,04E‐03 MND MND MND MND MND MND MND 7,61E‐04 5,88E‐04 2,46E‐03 7,51E‐04 ‐5,39E‐01 

1) GWP = Global Warming Potential; 2) EP = Eutrophication potential. Required characterisation method and data are in kg P-eq. Multiply by 3,07 to get PO4e; 3) POCP = Photochemical ozone formation; 4) ADP = Abiotic depletion 
potential; 5) EN 15804+A2 disclaimer for Abiotic depletion and Water use and optional indicators except Particulate matter and Ionizing radiation, human health. The results of these environmental impact indicators shall be used 
with care as the uncertainties on these results are high or as there is limited experience with the indicator. 

 

  



 

  10  Empire shower enclosure range Created with One Click LCA 

ADDITIONAL (OPTIONAL) ENVIRONMENTAL IMPACT INDICATORS – EN 15804+A2, PEF 

Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Particulate matter Incidence 3,66E‐07 1,13E‐09 1,48E‐08 3,82E‐07 1,99E‐08 1,27E‐09 MND MND MND MND MND MND MND 2,97E‐11 7,92E‐10 3,36E‐09 1,13E‐09 ‐2,18E‐07 

Ionizing radiation6) kBq 
U235e 

2,91E‐01 8,94E‐04 6,44E‐03 2,99E‐01 2,39E‐02 1,05E‐03 MND MND MND MND MND MND MND 8,05E‐04 6,24E‐04 6,06E‐04 6,61E‐04 ‐1,27E‐01 

Ecotoxicity 
(freshwater) 

CTUe 2,41E+02 1,77E‐01 6,26E+00 2,48E+02 3,74E+00 6,48E‐01 MND MND MND MND MND MND MND 2,23E‐02 1,24E‐01 1,41E+00 1,03E+01 ‐1,68E+02 

Human toxicity, cancer CTUh 4,69E‐09 4,98E‐12 2,29E‐10 4,93E‐09 1,93E‐10 1,57E‐11 MND MND MND MND MND MND MND 7,62E‐13 3,47E‐12 3,54E‐11 4,69E‐12 3,43E‐10 

Human tox. non-
cancer 

CTUh 1,31E‐07 1,65E‐10 2,09E‐09 1,34E‐07 3,03E‐09 3,04E‐10 MND MND MND MND MND MND MND 2,62E‐11 1,15E‐10 4,01E‐10 7,26E‐11 ‐7,99E‐08 

SQP7) - 1,69E+01 1,33E‐01 1,57E+01 3,27E+01 1,92E+00 3,76E‐02 MND MND MND MND MND MND MND 4,94E‐03 9,36E‐02 1,04E‐01 3,68E‐01 ‐1,29E+01 

6) EN 15804+A2 disclaimer for Ionizing radiation, human health. This impact category deals mainly with the eventual impact of low-dose ionizing radiation on human health of the nuclear fuel cycle. It does not consider effects 
due to possible nuclear accidents, occupational exposure nor due to radioactive waste disposal in underground facilities. Potential ionizing radiation from the soil, from radon and from some construction materials is also not 
measured by this indicator; 7) SQP = Land use related impacts/soil quality. 

USE OF NATURAL RESOURCES 

Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Renew. PER as 
energy8) 

MJ 4,52E+00 2,26E‐03 1,67E+00 6,19E+00 4,79E‐02 8,39E‐03 MND MND MND MND MND MND MND 5,91E‐03 1,57E‐03 9,29E‐03 2,21E‐03 ‐3,29E+00 

Renew. PER as 
material 

MJ 0,00E+00 0,00E+00 2,21E+00 2,21E+00 0,00E+00 ‐
2,21E+00 MND MND MND MND MND MND MND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 1,79E+00 

Total use of renew. 
PER 

MJ 4,52E+00 2,26E‐03 3,89E+00 8,41E+00 4,79E‐02 ‐
2,20E+00 MND MND MND MND MND MND MND 5,91E‐03 1,57E‐03 9,29E‐03 2,21E‐03 ‐1,50E+00 

Non-re. PER as energy MJ 5,30E+01 1,93E‐01 1,96E+00 5,52E+01 5,05E+00 8,55E‐02 MND MND MND MND MND MND MND 3,33E‐02 1,34E‐01 5,94E‐02 1,47E‐01 ‐2,69E+01 

Non-re. PER as 
material 

MJ 1,57E‐01 0,00E+00 3,59E‐01 5,16E‐01 0,00E+00 ‐3,59E‐01 MND MND MND MND MND MND MND 0,00E+00 0,00E+00 ‐1,18E‐01 ‐3,92E‐02 ‐1,16E‐02 

Total use of non-re. 
PER 

MJ 5,32E+01 1,93E‐01 2,32E+00 5,57E+01 5,05E+00 ‐2,73E‐01 MND MND MND MND MND MND MND 3,33E‐02 1,34E‐01 ‐5,82E‐02 1,08E‐01 ‐2,69E+01 

Secondary materials kg 1,07E‐02 6,34E‐05 1,14E‐01 1,25E‐01 2,03E‐03 9,15E‐05 MND MND MND MND MND MND MND 3,43E‐06 4,42E‐05 6,30E‐05 4,99E‐05 3,45E‐01 

Renew. secondary 
fuels 

MJ 7,10E‐04 8,21E‐07 2,86E‐02 2,93E‐02 1,23E‐05 4,32E‐07 MND MND MND MND MND MND MND 3,08E‐08 5,71E‐07 2,86E‐06 1,02E‐06 1,30E‐03 

Non-ren. secondary 
fuels 

MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 MND MND MND MND MND MND MND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Use of net fresh water m3 3,52E‐02 2,27E‐05 2,01E‐03 3,73E‐02 4,49E‐04 3,18E‐05 MND MND MND MND MND MND MND 2,64E‐05 1,59E‐05 7,03E‐05 1,60E‐04 ‐1,85E‐02 

8) PER = Primary energy resources.   



 

  11  Empire shower enclosure range Created with One Click LCA 

END OF LIFE – WASTE 

Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Hazardous waste kg 6,37E‐01 2,77E‐04 9,91E‐03 6,47E‐01 6,75E‐03 4,31E‐04 MND MND MND MND MND MND MND 1,22E‐04 1,93E‐04 4,25E‐04 0,00E+00 ‐3,93E‐01 

Non-hazardous waste kg 7,60E+00 4,43E‐03 1,63E‐01 7,77E+00 7,93E‐02 8,28E‐02 MND MND MND MND MND MND MND 9,47E‐03 3,09E‐03 2,06E‐02 6,23E‐01 ‐4,50E+00 

Radioactive waste kg 1,27E‐04 1,27E‐06 3,44E‐06 1,32E‐04 3,50E‐05 4,24E‐07 MND MND MND MND MND MND MND 2,27E‐07 8,88E‐07 3,07E‐07 0,00E+00 ‐5,72E‐05 

END OF LIFE – OUTPUT FLOWS 

Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Components for re-use kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 MND MND MND MND MND MND MND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Materials for recycling kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 1,12E‐01 MND MND MND MND MND MND MND 0,00E+00 0,00E+00 3,68E‐01 0,00E+00 0,00E+00 

Materials for energy 
rec 

kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 MND MND MND MND MND MND MND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Exported energy MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 7,84E‐01 MND MND MND MND MND MND MND 0,00E+00 0,00E+00 7,74E‐02 0,00E+00 0,00E+00 

ENVIRONMENTAL IMPACTS – EN 15804+A1, CML / ISO 21930 

Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Global Warming Pot. kg CO2e 4,72E+00 1,32E‐02 1,66E‐01 4,89E+00 3,74E‐01 3,16E‐02 MND MND MND MND MND MND MND 1,65E‐03 9,19E‐03 1,88E‐02 6,34E‐03 ‐2,57E+00 

Ozone depletion Pot. kg CFC-11e 2,29E‐07 2,32E‐09 9,35E‐09 2,41E‐07 6,25E‐08 4,86E‐10 MND MND MND MND MND MND MND 7,07E‐11 1,62E‐09 4,13E‐10 1,57E‐09 ‐9,32E‐08 

Acidification kg SO2e 3,02E‐02 4,29E‐05 6,34E‐04 3,09E‐02 6,37E‐03 3,19E‐05 MND MND MND MND MND MND MND 8,07E‐06 2,99E‐05 4,22E‐05 4,16E‐05 ‐1,79E‐02 

Eutrophication kg PO4
3e 2,33E‐02 9,84E‐06 3,77E‐04 2,37E‐02 7,66E‐04 4,64E‐05 MND MND MND MND MND MND MND 7,18E‐06 6,87E‐06 3,17E‐05 2,14E‐05 ‐6,13E‐03 

POCP (“smog”) kg C2H4e 2,75E‐03 1,74E‐06 6,71E‐05 2,82E‐03 1,71E‐04 2,79E‐06 MND MND MND MND MND MND MND 3,30E‐07 1,22E‐06 4,12E‐06 1,58E‐06 ‐8,85E‐04 

ADP-elements kg Sbe 5,01E‐04 4,52E‐08 6,96E‐07 5,02E‐04 8,24E‐07 6,20E‐08 MND MND MND MND MND MND MND 1,45E‐08 3,14E‐08 4,69E‐07 1,96E‐08 ‐4,26E‐04 

ADP-fossil MJ 5,32E+01 1,92E‐01 2,30E+00 5,57E+01 5,05E+00 8,55E‐02 MND MND MND MND MND MND MND 3,33E‐02 1,34E‐01 5,94E‐02 1,47E‐01 ‐2,69E+01 

 



 

  12  Empire shower enclosure range Created with One Click LCA 

VERIFICATION STATEMENT 

VERIFICATION PROCESS FOR THIS EPD 
This EPD has been verified in accordance with ISO 14025 by an independent, 
third-party verifier by reviewing results, documents and compliancy with 
reference standard, ISO 14025 and ISO 14040/14044, following the process 
and checklists of the program operator for: 
 

• This Environmental Product Declaration 

• The Life-Cycle Assessment used in this EPD 

• The digital background data for this EPD 
 
Why does verification transparency matter? Read more online 
This EPD has been generated by One Click LCA EPD generator, which has been 
verified and approved by the EPD Hub. 

THIRD-PARTY VERIFICATION STATEMENT 
I hereby confirm that, following detailed examination, I have not established 
any relevant deviations by the studied Environmental Product Declaration 
(EPD), its LCA and project report, in terms of the data collected and used 
in the LCA calculations, the way the LCA-based calculations have been carried 
out, the presentation of environmental data in the EPD, and other additional 
environmental information, as present with respect to the procedural and 
methodological requirements in ISO 14025:2010 and reference standard. 
 
I confirm that the company-specific data has been examined as regards 
plausibility and consistency; the declaration owner is responsible for its 
factual integrity and legal compliance. 

 

 
I confirm that I have sufficient knowledge and experience of construction 
products, this specific product category, the construction industry, relevant 
standards, and the geographical area of the EPD to carry out this verification. 
 
I confirm my independence in my role as verifier; I have not been involved in 
the execution of the LCA or in the development of the declaration and have 
no conflicts of interest regarding this verification. 
 
HaiHa Nguyen, as an authorized verifier acting for EPD Hub Limited  
19.12.2024 

 
 
  



 

  13  Empire shower enclosure range Created with One Click LCA 

ANNEX 1 
 

SCALING TABLE GWP 

 

Category 
A1 Raw material extraction 

and processing 
A2 Transport to the 

manufacturer 
A3 Manufacturing SUM A1-A3 

Compared to 
representative product  

Best Case 1  
DESK125SKL Fixed wall black clear glass 125 

cm 4,07933047 0,010831575 0,168385867 4,258547912 -15,02% 

Best Case 2  
DESKD98SKL Door black without muntins 

clear glass with handle 98 cm 4,660844589 0,0103951 0,158883961 4,83012365 -3,61% 

Representative product 
Empire Shower Enclosure Hörna 89x89 Spröjs 

Svart Klarglas 4,835344367 0,013302258 0,162486171 5,011132796 0,00% 

Worst Case 1 
 DEH8080SVKL Door white with muntins with 

handle clear glass 78 cm 5,291216626 0,009949196 0,164495729 5,465661551 9,07% 

Worst Case 2  
DESK75SVKL Fixed wall white with muntins 

clear glass with wall support 75 cm 5,787046992 0,01014566 0,166631992 5,963824644 19,01% 

Worst Case 3 
DEH8080SLI Door black anodized fluted glass 

without muntins with handle 78 cm 6,850561875 0,010536354 0,214323498 7,075421726 41,19% 

Worst Case 4  
DESK75SLI Fixed wall fluted glass without 

muntins without handle with wall support 75 
cm 7,03945852 0,009974155 0,219903827 7,269336503 45,06% 

  



 

  14  Empire shower enclosure range Created with One Click LCA 

ANNEX 2  

PRODUCT RANGE 

Item no RSK Description 

DEH1010SKL 7332859 Empire Hörna 99x99 Mattsvart Klarglas Utan spröjs 

DEH1010SSKL 7332844 Empire Hörna 99x99 Mattsvart Klarglas Avtagbara spröjs 

DEH1010SVKL 7333853 Empire Hörna 99x99 vit klarglas Avtagbara spröjs 

DEH1080SKL 7332861 Empire Hörna 99x79 Mattsvart Klarglas Utan spröjs 

DEH1080SSKL 7332846 Empire Hörna 99x79 Mattsvart Klarglas Avtagbara spröjs 

DEH1080SVKL 7333855 Empire Hörna 99x79 vit klarglas Avtagbara spröjs 

DEH1090SKL 7332860 Empire Hörna 99x89 Mattsvart Klarglas Utan spröjs 

DEH1090SSKL 7332845 Empire Hörna 99x89 Mattsvart Klarglas Avtagbara spröjs 

DEH1090SVKL 7333854 Empire Hörna 99x89 vit klarglas Avtagbara spröjs 

DEH8080SKL 7332864 Empire Hörna 79x79 Mattsvart Klarglas Utan spröjs 

DEH8080SSKL 7332849 Empire Hörna 79x79 Mattsvart Klarglas Avtagbara spröjs 

DEH8080SVKL 7333858 Empire Hörna 79x79 vit klarglas Avtagbara spröjs 

DEH9080SKL 7332863 Empire Hörna 89x79 Mattsvart Klarglas Utan spröjs 

DEH9080SSKL 7332848 Empire Hörna 89x79 Mattsvart Klarglas Avtagbara spröjs 

DEH9080SVKL 7333857 Empire Hörna 89x79 vit klarglas Avtagbara spröjs 

DEH9090SKL 7332862 Empire Hörna 89x89 Mattsvart Klarglas Utan spröjs 

DEH9090SSKL 7332847 Empire Hörna 89x89 Mattsvart Klarglas Avtagbara spröjs 

DEH9090SVKL 7333856 Empire Hörna 89x89 vit klarglas Avtagbara spröjs 

DEL7612578SKL 7329107 Empire L Utan Spröjs Svart 76x125x78(2045-2075) 

DEL7612578SSKL 7329041 Empire L Med Spröjs Svart 76x125x78(2045-2075) 

DEL7612588SKL 7329108 Empire L Utan Spröjs Svart 76x125x88(2145-2175) 

DEL7612588SSKL 7329042 Empire L Med Spröjs Svart 76x125x88(2145-2175) 

DEL7612598SKL 7329109 Empire L Utan Spröjs Svart 76x125x98(2245-2275) 

DEL7612598SSKL 7329043 Empire L Med Spröjs Svart 76x125x98(2245-2275) 

Item no RSK Description 

DEL764578SKL 7329095 Empire L Utan Spröjs Svart 76x45x78(1245-1275) 

DEL764578SSKL 7329029 Empire L Med Spröjs Svart 76x45x78(1245-1275) 

DEL764588SKL 7329096 Empire L Utan Spröjs Svart 76x45x88(1345-1375) 

DEL764588SSKL 7329030 Empire L Med Spröjs Svart 76x45x88(1345-1375) 

DEL764598SKL 7329097 Empire L Utan Spröjs Svart 76x45x98(1445-1475) 

DEL764598SSKL 7329031 Empire L Med Spröjs Svart 76x45x98(1445-1475) 

DEL767578SKL 7329098 Empire L Utan Spröjs Svart 76x75x78(1545-1575) 

DEL767578SSKL 7329032 Empire L Med Spröjs Svart 76x75x78(1545-1575) 

DEL767578SVKL 7329164 Empire L Med Spröjs Vit 76x75x78(1545-1575) 

DEL767588SKL 7329099 Empire L Utan Spröjs Svart 76x75x88(1645-1675) 

DEL767588SSKL 7329033 Empire L Med Spröjs Svart 76x75x88(1645-1675) 

DEL767588SVKL 7329165 Empire L Med Spröjs Vit 76x75x88(1645-1675) 

DEL767598SKL 7329100 Empire L Utan Spröjs Svart 76x75x98(1745-1775) 

DEL767598SSKL 7329034 Empire L Med Spröjs Svart 76x75x98(1745-1775) 

DEL767598SVKL 7329166 Empire L Med Spröjs Vit 76x75x98(1745-1775) 

DEL768578SKL 7329101 Empire L Utan Spröjs Svart 76x85x78(1645-1675) 

DEL768578SSKL 7329035 Empire L Med Spröjs Svart 76x85x78(1645-1675) 

DEL768578SVKL 7329167 Empire L Med Spröjs Vit 76x85x78(1645-1675) 

DEL768588SKL 7329102 Empire L Utan Spröjs Svart 76x85x88(1745-1775) 

DEL768588SSKL 7329036 Empire L Med Spröjs Svart 76x85x88(1745-1775) 

DEL768588SVKL 7329168 Empire L Med Spröjs Vit 76x85x88(1745-1775) 

DEL768598SKL 7329103 Empire L Utan Spröjs Svart 76x85x98(1845-1875) 

DEL768598SSKL 7329037 Empire L Med Spröjs Svart 76x85x98(1845-1875) 

DEL768598SVKL 7329169 Empire L Med Spröjs Vit 76x85x98(1845-1875) 

DEL769578SKL 7329104 Empire L Utan Spröjs Svart 76x95x78(1745-1775) 

DEL769578SSKL 7329038 Empire L Med Spröjs Svart 76x95x78(1745-1775) 



 

  15  Empire shower enclosure range Created with One Click LCA 

Item no RSK Description 

DEL769578SVKL 7329170 Empire L Med Spröjs Vit 76x95x78(1745-1775) 

DEL769588SKL 7329105 Empire L Utan Spröjs Svart 76x95x88(1845-1875) 

DEL769588SSKL 7329039 Empire L Med Spröjs Svart 76x95x88(1845-1875) 

DEL769588SVKL 7329171 Empire L Med Spröjs Vit 76x95x88(1845-1875) 

DEL769598SKL 7329106 Empire L Utan Spröjs Svart 76x95x98(1945-1975) 

DEL769598SSKL 7329040 Empire L Med Spröjs Svart 76x95x98(1945-1975) 

DEL769598SVKL 7329172 Empire L Med Spröjs Vit 76x95x98(1945-1975) 

DEL8612578SKL 7329122 Empire L Utan Spröjs Svart 86x125x78(2045-2075) 

DEL8612578SSKL 7329056 Empire L Med Spröjs Svart 86x125x78(2045-2075) 

DEL8612588SKL 7329123 Empire L Utan Spröjs Svart 86x125x88(2145-2175) 

DEL8612588SSKL 7329057 Empire L Med Spröjs Svart 86x125x88(2145-2175) 

DEL8612598SKL 7329124 Empire L Utan Spröjs Svart 86x125x98(2245-2275) 

DEL8612598SSKL 7329058 Empire L Med Spröjs Svart 86x125x98(2245-2275) 

DEL864578SKL 7329110 Empire L Utan Spröjs Svart 86x45x78(1245-1275) 

DEL864578SSKL 7329044 Empire L Med Spröjs Svart 86x45x78(1245-1275) 

DEL864588SKL 7329111 Empire L Utan Spröjs Svart 86x45x88(1345-1375) 

DEL864588SSKL 7329045 Empire L Med Spröjs Svart 86x45x88(1345-1375) 

DEL864598SKL 7329112 Empire L Utan Spröjs Svart 86x45x98(1445-1475) 

DEL864598SSKL 7329046 Empire L Med Spröjs Svart 86x45x98(1445-1475) 

DEL867578SKL 7329113 Empire L Utan Spröjs Svart 86x75x78(1545-1575) 

DEL867578SSKL 7329047 Empire L Med Spröjs Svart 86x75x78(1545-1575) 

DEL867578SVKL 7329179 Empire L Med Spröjs Vit 86x75x78(1545-1575) 

DEL867588SKL 7329114 Empire L Utan Spröjs Svart 86x75x88(1645-1675) 

DEL867588SSKL 7329048 Empire L Med Spröjs Svart 86x75x88(1645-1675) 

DEL867588SVKL 7329180 Empire L Med Spröjs Vit 86x75x88(1645-1675) 

DEL867598SKL 7329115 Empire L Utan Spröjs Svart 86x75x98(1745-1775) 

DEL867598SSKL 7329049 Empire L Med Spröjs Svart 86x75x98(1745-1775) 

DEL867598SVKL 7329181 Empire L Med Spröjs Vit 86x75x98(1745-1775) 

Item no RSK Description 

DEL868578SKL 7329116 Empire L Utan Spröjs Svart 86x85x78(1645-1675) 

DEL868578SSKL 7329050 Empire L Med Spröjs Svart 86x85x78(1645-1675) 

DEL868578SVKL 7329182 Empire L Med Spröjs Vit 86x85x78(1645-1675) 

DEL868588SKL 7329117 Empire L Utan Spröjs Svart 86x85x88(1745-1775) 

DEL868588SSKL 7329051 Empire L Med Spröjs Svart 86x85x88(1745-1775) 

DEL868588SVKL 7329183 Empire L Med Spröjs Vit 86x85x88(1745-1775) 

DEL868598SKL 7329118 Empire L Utan Spröjs Svart 86x85x98(1845-1875) 

DEL868598SSKL 7329052 Empire L Med Spröjs Svart 86x85x98(1845-1875) 

DEL868598SVKL 7329184 Empire L Med Spröjs Vit 86x85x98(1845-1875) 

DEL869578SKL 7329119 Empire L Utan Spröjs Svart 86x95x78(1745-1775) 

DEL869578SSKL 7329053 Empire L Med Spröjs Svart 86x95x78(1745-1775) 

DEL869578SVKL 7329185 Empire L Med Spröjs Vit 86x95x78(1745-1775) 

DEL869588SKL 7329120 Empire L Utan Spröjs Svart 86x95x88(1845-1875) 

DEL869588SSKL 7329054 Empire L Med Spröjs Svart 86x95x88(1845-1875) 

DEL869588SVKL 7329186 Empire L Med Spröjs Vit 86x95x88(1845-1875) 

DEL869598SKL 7329121 Empire L Utan Spröjs Svart 86x95x98(1945-1975) 

DEL869598SSKL 7329055 Empire L Med Spröjs Svart 86x95x98(1945-1975) 

DEL869598SVKL 7329187 Empire L Med Spröjs Vit 86x95x98(1945-1975) 

DEL9612578SKL 7329137 Empire L Utan Spröjs Svart 96x125x78(2045-2075) 

DEL9612578SSKL 7329071 Empire L Med Spröjs Svart 96x125x78(2045-2075) 

DEL9612588SKL 7329138 Empire L Utan Spröjs Svart 96x125x88(2145-2175) 

DEL9612588SSKL 7329072 Empire L Med Spröjs Svart 96x125x88(2145-2175) 

DEL9612598SKL 7329139 Empire L Utan Spröjs Svart 96x125x98(2245-2275) 

DEL9612598SSKL 7329073 Empire L Med Spröjs Svart 96x125x98(2245-2275) 

DEL964578SKL 7329125 Empire L Utan Spröjs Svart 96x45x78(1245-1275) 

DEL964578SSKL 7329059 Empire L Med Spröjs Svart 96x45x78(1245-1275) 

DEL964588SKL 7329126 Empire L Utan Spröjs Svart 96x45x88(1345-1375) 

DEL964588SSKL 7329060 Empire L Med Spröjs Svart 96x45x88(1345-1375) 



 

  16  Empire shower enclosure range Created with One Click LCA 

Item no RSK Description 

DEL964598SKL 7329127 Empire L Utan Spröjs Svart 96x45x98(1445-1475) 

DEL964598SSKL 7329061 Empire L Med Spröjs Svart 96x45x98(1445-1475) 

DEL967578SKL 7329128 Empire L Utan Spröjs Svart 96x75x78(1545-1575) 

DEL967578SSKL 7329062 Empire L Med Spröjs Svart 96x75x78(1545-1575) 

DEL967578SVKL 7329194 Empire L Med Spröjs Vit 96x75x78(1545-1575) 

DEL967588SKL 7329129 Empire L Utan Spröjs Svart 96x75x88(1645-1675) 

DEL967588SSKL 7329063 Empire L Med Spröjs Svart 96x75x88(1645-1675) 

DEL967588SVKL 7329195 Empire L Med Spröjs Vit 96x75x88(1645-1675) 

DEL967598SKL 7329130 Empire L Utan Spröjs Svart 96x75x98(1745-1775) 

DEL967598SSKL 7329064 Empire L Med Spröjs Svart 96x75x98(1745-1775) 

DEL967598SVKL 7329196 Empire L Med Spröjs Vit 96x75x98(1745-1775) 

DEL968578SKL 7329131 Empire L Utan Spröjs Svart 96x85x78(1645-1675) 

DEL968578SSKL 7329065 Empire L Med Spröjs Svart 96x85x78(1645-1675) 

DEL968578SVKL 7329197 Empire L Med Spröjs Vit 96x85x78(1645-1675) 

DEL968588SKL 7329132 Empire L Utan Spröjs Svart 96x85x88(1745-1775) 

DEL968588SSKL 7329066 Empire L Med Spröjs Svart 96x85x88(1745-1775) 

DEL968588SVKL 7329198 Empire L Med Spröjs Vit 96x85x88(1745-1775) 

DEL968598SKL 7329133 Empire L Utan Spröjs Svart 96x85x98(1845-1875) 

DEL968598SSKL 7329067 Empire L Med Spröjs Svart 96x85x98(1845-1875) 

DEL968598SVKL 7329199 Empire L Med Spröjs Vit 96x85x98(1845-1875) 

DEL969578SKL 7329134 Empire L Utan Spröjs Svart 96x95x78(1745-1775) 

DEL969578SSKL 7329068 Empire L Med Spröjs Svart 96x95x78(1745-1775) 

DEL969578SVKL 7329200 Empire L Med Spröjs Vit 96x95x78(1745-1775) 

DEL969588SKL 7329135 Empire L Utan Spröjs Svart 96x95x88(1845-1875) 

DEL969588SSKL 7329069 Empire L Med Spröjs Svart 96x95x88(1845-1875) 

DEL969588SVKL 7329201 Empire L Med Spröjs Vit 96x95x88(1845-1875) 

DEL969598SKL 7329136 Empire L Utan Spröjs Svart 96x95x98(1945-1975) 

DEL969598SSKL 7329070 Empire L Med Spröjs Svart 96x95x98(1945-1975) 

Item no RSK Description 

DEL969598SVKL 7329202 Empire L Med Spröjs Vit 96x95x98(1945-1975) 

DENI102SKL 7329076 Empire Nisch Utan Spröjs Svart 1020-1049 

DENI102SSKL 7329010 Empire Nisch Med Spröjs Svart 1020-1049 

DENI102SVKL 7329142 Empire Nisch Med Spröjs Vit 1020-1049 

DENI82SKL 7329074 Empire Nisch Utan Spröjs Svart 820-849 

DENI82SSKL 7329008 Empire Nisch Med Spröjs Svart 820-849 

DENI82SVKL 7329140 Empire Nisch Med Spröjs Vit 820-849 

DENI92SKL 7329075 Empire Nisch Utan Spröjs Svart 920-949 

DENI92SSKL 7329009 Empire Nisch Med Spröjs Svart 920-949 

DENI92SVKL 7329141 Empire Nisch Med Spröjs Vit 920-949 

DESA156SKL 7329077 Empire Saloon Utan Spröjs Svart 1560-1589 

DESA156SSKL 7329011 Empire Saloon Med Spröjs Svart 1560-1589 

DESA156SVKL 7329143 Empire Saloon Med Spröjs Vit 1560-1589 

DESA176SKL 7329078 Empire Saloon Utan Spröjs Svart 1760-1789 

DESA176SSKL 7329012 Empire Saloon Med Spröjs Svart 1760-1789 

DESA176SVKL 7329144 Empire Saloon Med Spröjs Vit 1760-1789 

DESA196SKL 7329079 Empire Saloon Utan Spröjs Svart 1960-1989 

DESA196SSKL 7329013 Empire Saloon Med Spröjs Svart 1960-1989 

DESA196SVKL 7329145 Empire Saloon Med Spröjs Vit 1960-1989 

DESK125SKL 7333900 Empire Vägg 125 Mattsvart klarglas Utan spröjs 

DESK125SSKL 7333899 Empire Vägg 125 Mattsvart klarglas Avtagbara spröjs 

DESK75SKL 7332841 Empire Vägg 75 Mattsvart Klarglas Utan spröjs 

DESK75SSKL 7332838 Empire Vägg 75 Mattsvart Klarglas Avtagbara spröjs 

DESK75SVKL 7333861 Empire Vägg 75 vit klarglas Avtagbara spröjs 

DESK85SKL 7332842 Empire Vägg 85 Mattsvart Klarglas Utan spröjs 

DESK85SSKL 7332839 Empire Vägg 85 Mattsvart Klarglas Avtagbara spröjs 

DESK85SVKL 7333860 Empire Vägg 85 vit klarglas Avtagbara spröjs 

DESK95SKL 7332843 Empire Vägg 95 Mattsvart Klarglas Utan spröjs 



 

  17  Empire shower enclosure range Created with One Click LCA 

Item no RSK Description 

DESK95SSKL 7332840 Empire Vägg 95 Mattsvart Klarglas Avtagbara spröjs 

DESK95SVKL 7333859 Empire Vägg 95 vit klarglas Avtagbara spröjs 

DESKD78SKL 7333599 Empire Dörr 78 mattsvart klarglas  

DESKD78SSKL 7333600 Empire Dörr 78 mattsvart klarglas Avtagbara spröjs 

DESKD78SVKL 7333873 Empire Dörr 78 vit klarglas Avtagbara spröjs 

DESKD88SKL 7333597 Empire Dörr 88 mattsvart klarglas  

DESKD88SSKL 7333598 Empire Dörr 88 mattsvart klarglas Avtagbara spröjs 

DESKD88SVKL 7333871 Empire Dörr 88 vit klarglas Avtagbara spröjs 

DESKD98SKL 7333595 Empire Dörr 98 mattsvart klarglas  

DESKD98SSKL 7333596 Empire Dörr 98 mattsvart klarglas Avtagbara spröjs 

DESKD98SVKL 7333872 Empire Dörr 98 vit klarglas Avtagbara spröjs 

DESW1010SKL 7332865 Empire Swing 99x99 Mattsvart Klarglas Utan spröjs 

DESW1010SSKL 7332850 Empire Swing 99x99 Mattsvart Klarglas Avtagbara spröjs 

DESW1010SVKL 7333862 Empire Swing 99x99 vit klarglas Avtagbara spröjs 

DESW1080SKL 7332867 Empire Swing 99x79 Mattsvart Klarglas Utan spröjs 

DESW1080SSKL 7332852 Empire Swing 99x79 Mattsvart Klarglas Avtagbara spröjs 

DESW1080SVKL 7333864 Empire Swing 99x79 vit klarglas Avtagbara spröjs 

DESW1090SKL 7332866 Empire Swing 99x89 Mattsvart Klarglas Utan spröjs 

DESW1090SSKL 7332851 Empire Swing 99x89 Mattsvart Klarglas Avtagbara spröjs 

DESW1090SVKL 7333863 Empire Swing 99x89 vit klarglas Avtagbara spröjs 

DESW1210SKL 7333907 Empire Swing 125x99 Mattsvart klarglas Utan spröjs 

DESW1210SSKL 7333904 Empire Swing 125x99 Mattsvart klarglas Avtagbara spröjs 

DESW1280SKL 7333909 Empire Swing 125x79 Mattsvart klarglas Utan spröjs 

DESW1280SSKL 7333906 Empire Swing 125x79 Mattsvart klarglas Avtagbara spröjs 

DESW1290SKL 7333908 Empire Swing 125x89 Mattsvart klarglas Utan spröjs 

DESW1290SSKL 7333905 Empire Swing 125x89 Mattsvart klarglas Avtagbara spröjs 

DESW8010SKL 7332871 Empire Swing 79x99 Mattsvart Klarglas Utan spröjs 

DESW8010SSKL 7332856 Empire Swing 79x99 Mattsvart Klarglas Avtagbara spröjs 

Item no RSK Description 

DESW8010SVKL 7333868 Empire Swing 79x99 vit klarglas Avtagbara spröjs 

DESW8080SKL 7332873 Empire Swing 79x79 Mattsvart Klarglas Utan spröjs 

DESW8080SSKL 7332858 Empire Swing 79x79 Mattsvart Klarglas Avtagbara spröjs 

DESW8080SVKL 7333870 Empire Swing 79x79 vit klarglas Avtagbara spröjs 

DESW8090SKL 7332872 Empire Swing 79x89 Mattsvart Klarglas Utan spröjs 

DESW8090SSKL 7332857 Empire Swing 79x89 Mattsvart Klarglas Avtagbara spröjs 

DESW8090SVKL 7333869 Empire Swing 79x89 vit klarglas Avtagbara spröjs 

DESW9010SKL 7332868 Empire Swing 89x99 Mattsvart Klarglas Utan spröjs 

DESW9010SSKL 7332853 Empire Swing 89x99 Mattsvart Klarglas Avtagbara spröjs 

DESW9010SVKL 7333865 Empire Swing 89x99 vit klarglas Avtagbara spröjs 

DESW9080SKL 7332870 Empire Swing 89x79 Mattsvart Klarglas Utan spröjs 

DESW9080SSKL 7332855 Empire Swing 89x79 Mattsvart Klarglas Avtagbara spröjs 

DESW9080SVKL 7333867 Empire Swing 89x79 vit klarglas Avtagbara spröjs 

DESW9090SKL 7332869 Empire Swing 89x89 Mattsvart Klarglas Utan spröjs 

DESW9090SSKL 7332854 Empire Swing 89x89 Mattsvart Klarglas Avtagbara spröjs 

DESW9090SVKL 7333866 Empire Swing 89x89 vit klarglas Avtagbara spröjs 

DESWN12578SKL 7329092 Empire swing Nisch Utan Spröjs Svart 125x78(203-206) 

DESWN12578SSKL 7329026 Empire swing Nisch Med Spröjs Svart 125x78(203-206) 

DESWN12588SKL 7329093 Empire swing Nisch Utan Spröjs Svart 125x88(213-216) 

DESWN12588SSKL 7329027 Empire swing Nisch Med Spröjs Svart 125x88(213-216) 

DESWN12598SKL 7329094 Empire swing Nisch Utan Spröjs Svart 125x98(223-226) 

DESWN12598SSKL 7329028 Empire swing Nisch Med Spröjs Svart 125x98(223-226) 

DESWN4578SKL 7329080 Empire swing Nisch Utan Spröjs Svart 45x78(123-126) 

DESWN4578SSKL 7329014 Empire swing Nisch Med Spröjs Svart 45x78(123-126) 

DESWN4588SKL 7329081 Empire swing Nisch Utan Spröjs Svart 45x88(133-136) 

DESWN4588SSKL 7329015 Empire swing Nisch Med Spröjs Svart 45x88(133-136) 

DESWN4598SKL 7329082 Empire swing Nisch Utan Spröjs Svart 45x98(143-146) 

DESWN4598SSKL 7329016 Empire swing Nisch Med Spröjs Svart 45x98(143-146) 



 

  18  Empire shower enclosure range Created with One Click LCA 

Item no RSK Description 

DESWN7578SKL 7329083 Empire swing Nisch Utan Spröjs Svart 75x78(153-156) 

DESWN7578SSKL 7329017 Empire swing Nisch Med Spröjs Svart 75x78(153-156) 

DESWN7578SVKL 7329149 Empire swing Nisch Med Spröjs Vit 75x78(153-156) 

DESWN7588SKL 7329084 Empire swing Nisch Utan Spröjs Svart 75x88(163-166) 

DESWN7588SSKL 7329018 Empire swing Nisch Med Spröjs Svart 75x88(163-166) 

DESWN7588SVKL 7329150 Empire swing Nisch Med Spröjs Vit 75x88(163-166) 

DESWN7598SKL 7329085 Empire swing Nisch Utan Spröjs Svart 75x98(173-176) 

DESWN7598SSKL 7329019 Empire swing Nisch Med Spröjs Svart 75x98(173-176) 

DESWN7598SVKL 7329151 Empire swing Nisch Med Spröjs Vit 75x98(173-176) 

DESWN8578SKL 7329086 Empire swing Nisch Utan Spröjs Svart 85x78(163-166) 

DESWN8578SSKL 7329020 Empire swing Nisch Med Spröjs Svart 85x78(163-166) 

DESWN8578SVKL 7329152 Empire swing Nisch Med Spröjs Vit 85x78(163-166) 

DESWN8588SKL 7329087 Empire swing Nisch Utan Spröjs Svart 85x88(173-176) 

DESWN8588SSKL 7329021 Empire swing Nisch Med Spröjs Svart 85x88(173-176) 

DESWN8588SVKL 7329153 Empire swing Nisch Med Spröjs Vit 85x88(173-176) 

DESWN8598SKL 7329088 Empire swing Nisch Utan Spröjs Svart 85x98(183-186) 

DESWN8598SSKL 7329022 Empire swing Nisch Med Spröjs Svart 85x98(183-186) 

DESWN8598SVKL 7329154 Empire swing Nisch Med Spröjs Vit 85x98(183-186) 

DESWN9578SKL 7329089 Empire swing Nisch Utan Spröjs Svart 95x78(173-176) 

DESWN9578SSKL 7329023 Empire swing Nisch Med Spröjs Svart 95x78(173-176) 

DESWN9578SVKL 7329155 Empire swing Nisch Med Spröjs Vit 95x78(173-176) 

DESWN9588SKL 7329090 Empire swing Nisch Utan Spröjs Svart 95x88(183-186) 

DESWN9588SSKL 7329024 Empire swing Nisch Med Spröjs Svart 95x88(183-186) 

DESWN9588SVKL 7329156 Empire swing Nisch Med Spröjs Vit 95x88(183-186) 

DESWN9598SKL 7329091 Empire swing Nisch Utan Spröjs Svart 95x98(193-196) 

DESWN9598SSKL 7329025 Empire swing Nisch Med Spröjs Svart 95x98(193-196) 

DESWN9598SVKL 7329157 Empire swing Nisch Med Spröjs Vit 95x98(193-196) 

DEH1010SLI 7310759 Empire Hörna 99x99 Mattsvart Linjeglas 

Item no RSK Description 

DEH1080SLI 7310760 Empire Hörna 99x79 Mattsvart Linjeglas 

DEH1090SLI 7310761 Empire Hörna 99x89 Mattsvart Linjeglas 

DEH8080SLI 7310762 Empire Hörna 79x79 Mattsvart Linjeglas 

DEH9080SLI 7310763 Empire Hörna 89x79 Mattsvart Linjeglas 

DEH9090SLI 7310764 Empire Hörna 89x89 Mattsvart Linjeglas 

DEL7612578SLI 7310765 Empire L Mattsvart Linjeglas 76x125x78(2045-2075) 

DEL7612588SLI 7310766 Empire L Mattsvart Linjeglas 76x125x88(2145-2175) 

DEL7612598SLI 7310767 Empire L Mattsvart Linjeglas 76x125x98(2245-2275) 

DEL767578SLI 7310768 Empire L Mattsvart Linjeglas 76x75x78(1545-1575) 

DEL767588SLI 7310769 Empire L Mattsvart Linjeglas 76x75x88(1645-1675) 

DEL767598SLI 7310770 Empire L Mattsvart Linjeglas 76x75x98(1745-1775) 

DEL768578SLI 7310771 Empire L Mattsvart Linjeglas 76x85x78(1645-1675) 

DEL768588SLI 7310772 Empire L Mattsvart Linjeglas 76x85x88(1745-1775) 

DEL768598SLI 7310773 Empire L Mattsvart Linjeglas 76x85x98(1845-1875) 

DEL769578SLI 7310775 Empire L Mattsvart Linjeglas 76x95x78(1745-1775) 

DEL769588SLI 7310776 Empire L Mattsvart Linjeglas 76x95x88(1845-1875) 

DEL769598SLI 7310777 Empire L Mattsvart Linjeglas 76x95x98(1945-1975) 

DEL8612578SLI 7310778 Empire L Mattsvart Linjeglas 86x125x78(2045-2075) 

DEL8612588SLI 7310779 Empire L Mattsvart Linjeglas 86x125x88(2145-2175) 

DEL8612598SLI 7310780 Empire L Mattsvart Linjeglas 86x125x98(2245-2275) 

DEL867578SLI 7310781 Empire L Mattsvart Linjeglas 86x75x78(1545-1575) 

DEL867588SLI 7310782 Empire L Mattsvart Linjeglas 86x75x88(1645-1675) 

DEL867598SLI 7310783 Empire L Mattsvart Linjeglas 86x75x98(1745-1775) 

DEL868578SLI 7310784 Empire L Mattsvart Linjeglas 86x85x78(1645-1675) 

DEL868588SLI 7310785 Empire L Mattsvart Linjeglas 86x85x88(1745-1775) 

DEL868598SLI 7310786 Empire L Mattsvart Linjeglas 86x85x98(1845-1875) 

DEL869578SLI 7310787 Empire L Mattsvart Linjeglas 86x95x78(1745-1775) 

DEL869588SLI 7310788 Empire L Mattsvart Linjeglas 86x95x88(1845-1875) 



 

  19  Empire shower enclosure range Created with One Click LCA 

Item no RSK Description 

DEL869598SLI 7310789 Empire L Mattsvart Linjeglas 86x95x98(1945-1975) 

DEL9612578SLI 7310790 Empire L Mattsvart Linjeglas 96x125x78(2045-2075) 

DEL9612588SLI 7310791 Empire L Mattsvart Linjeglas 96x125x88(2145-2175) 

DEL9612598SLI 7310792 Empire L Mattsvart Linjeglas 96x125x98(2245-2275) 

DEL967578SLI 7310793 Empire L Mattsvart Linjeglas 96x75x78(1545-1575) 

DEL967588SLI 7310794 Empire L Mattsvart Linjeglas 96x75x88(1645-1675) 

DEL967598SLI 7310795 Empire L Mattsvart Linjeglas 96x75x98(1745-1775) 

DEL968578SLI 7310796 Empire L Mattsvart Linjeglas 96x85x78(1645-1675) 

DEL968588SLI 7310797 Empire L Mattsvart Linjeglas 96x85x88(1745-1775) 

DEL968598SLI 7310798 Empire L Mattsvart Linjeglas 96x85x98(1845-1875) 

DEL969578SLI 7310799 Empire L Mattsvart Linjeglas 96x95x78(1745-1775) 

DEL969588SLI 7310800 Empire L Mattsvart Linjeglas 96x95x88(1845-1875) 

DEL969598SLI 7310801 Empire L Mattsvart Linjeglas 96x95x98(1945-1975) 

DENI102SLI 7270178 Empire Nisch Mattsvart Linjeglas 1020-1049 

DENI82SLI 7270179 Empire Nisch Mattsvart Linjeglas 820-849 

DENI92SLI 7270180 Empire Nisch Mattsvart Linjeglas 920-949 

DESA156SLI 7270181 Empire Saloon Mattsvart Linjeglas 1560-1589 

DESA176SLI 7270182 Empire Saloon Mattsvart Linjeglas 1760-1789 

DESA196SLI 7270183 Empire Saloon Mattsvart Linjeglas 1960-1989 

DESK125SLI 7377515 Empire Vägg 125 Mattsvart Linjeglas 

DESK75SLI 7377516 Empire Vägg 75 Mattsvart Linjeglas 

DESK85SLI 7377517 Empire Vägg 85 Mattsvart Linjeglas 

DESK95SLI 7377518 Empire Vägg 95 Mattsvart Linjeglas 

DESKD78SLI 7270184 Empire Dörr 78 mattsvart Linjeglas  

DESKD88SLI 7270185 Empire Dörr 88 mattsvart Linjeglas  

DESKD98SLI 7270186 Empire Dörr 98 mattsvart Linjeglas  

DESW1010SLI 7310802 Empire Swing 99x99 Mattsvart Linjeglas 

DESW1080SLI 7310803 Empire Swing 99x79 Mattsvart Linjeglas 

Item no RSK Description 

DESW1090SLI 7310804 Empire Swing 99x89 Mattsvart Linjeglas 

DESW1210SLI 7310805 Empire Swing 125x99 Mattsvart Linjeglas 

DESW1280SLI 7310806 Empire Swing 125x79 Mattsvart Linjeglas 

DESW1290SLI 7310807 Empire Swing 125x89 Mattsvart Linjeglas 

DESW8010SLI 7310809 Empire Swing 79x99 Mattsvart Linjeglas 

DESW8080SLI 7310810 Empire Swing 79x79 Mattsvart Linjeglas 

DESW8090SLI 7310811 Empire Swing 79x89 Mattsvart Linjeglas 

DESW9010SLI 7310812 Empire Swing 89x99 Mattsvart Linjeglas 

DESW9080SLI 7310813 Empire Swing 89x79 Mattsvart Linjeglas 

DESW9090SLI 7310814 Empire Swing 89x89 Mattsvart Linjeglas 

DESWN12578SLI 7270187 Empire swing Nisch Mattsvart Linjeglas 125x78(203-206) 

DESWN12588SLI 7270188 Empire swing Nisch Mattsvart Linjeglas 125x88(213-216) 

DESWN12598SLI 7270189 Empire swing Nisch Mattsvart Linjeglas 125x98(223-226) 

DESWN7578SLI 7270190 Empire swing Nisch Mattsvart Linjeglas 75x78(153-156) 

DESWN7588SLI 7270191 Empire swing Nisch Mattsvart Linjeglas 75x88(163-166) 

DESWN7598SLI 7270192 Empire swing Nisch Mattsvart Linjeglas 75x98(173-176) 

DESWN8578SLI 7270193 Empire swing Nisch Mattsvart Linjeglas 85x78(163-166) 

DESWN8588SLI 7270194 Empire swing Nisch Mattsvart Linjeglas 85x88(173-176) 

DESWN8598SLI 7270195 Empire swing Nisch Mattsvart Linjeglas 85x98(183-186) 

DESWN9578SLI 7270196 Empire swing Nisch Mattsvart Linjeglas 95x78(173-176) 

DESWN9588SLI 7270197 Empire swing Nisch Mattsvart Linjeglas 95x88(183-186) 

DESWN9598SLI 7270198 Empire swing Nisch Mattsvart Linjeglas 95x98(193-196) 

DEH1010GKL 7311771 Empire Hörna 99x99 Gun metal Klarglas Utan spröjs 

DEH1010SGKL 7311773 Empire Hörna 99x99 Gun metal Klarglas Avtagbara spröjs 

DEH1080GKL 7311774 Empire Hörna 99x79 Gun metal Klarglas Utan spröjs 

DEH1080SGKL 7311775 Empire Hörna 99x79 Gun metal Klarglas Avtagbara spröjs 

DEH1090GKL 7311776 Empire Hörna 99x89 Gun metal Klarglas Utan spröjs 

DEH1090SGKL 7311777 Empire Hörna 99x89 Gun metal Klarglas Avtagbara spröjs 



 

  20  Empire shower enclosure range Created with One Click LCA 

Item no RSK Description 

DEH8080GKL 7311778 Empire Hörna 79x79 Gun metal Klarglas Utan spröjs 

DEH8080SGKL 7311779 Empire Hörna 79x79 Gun metal Klarglas Avtagbara spröjs 

DEH9080GKL 7311781 Empire Hörna 89x79 Gun metal Klarglas Utan spröjs 

DEH9080SGKL 7311782 Empire Hörna 89x79 Gun metal Klarglas Avtagbara spröjs 

DEH9090GKL 7311783 Empire Hörna 89x89 Gun metal Klarglas Utan spröjs 

DEH9090SGKL 7311784 Empire Hörna 89x89 Gun metal Klarglas Avtagbara spröjs 

DEL767578GKL 7311785 Empire L Utan Spröjs Gun metal 76x75x78(1545-1575) 

DEL767578SGKL 7311786 Empire L Med Spröjs Gun metal 76x75x78(1545-1575) 

DEL767588GKL 7311787 Empire L Utan Spröjs Gun metal 76x75x88(1645-1675) 

DEL767588SGKL 7311788 Empire L Med Spröjs Gun metal 76x75x88(1645-1675) 

DEL767598GKL 7311789 Empire L Utan Spröjs Gun metal 76x75x98(1745-1775) 

DEL767598SGKL 7311790 Empire L Med Spröjs Gun metal 76x75x98(1745-1775) 

DEL768578GKL 7311791 Empire L Utan Spröjs Gun metal 76x85x78(1645-1675) 

DEL768578SGKL 7311792 Empire L Med Spröjs Gun metal 76x85x78(1645-1675) 

DEL768588GKL 7311793 Empire L Utan Spröjs Gun metal 76x85x88(1745-1775) 

DEL768588SGKL 7311794 Empire L Med Spröjs Gun metal 76x85x88(1745-1775) 

DEL768598GKL 7311795 Empire L Utan Spröjs Gun metal 76x85x98(1845-1875) 

DEL768598SGKL 7311796 Empire L Med Spröjs Gun metal 76x85x98(1845-1875) 

DEL769578GKL 7311797 Empire L Utan Spröjs Gun metal 76x95x78(1745-1775) 

DEL769578SGKL 7311799 Empire L Med Spröjs Gun metal 76x95x78(1745-1775) 

DEL769588GKL 7311800 Empire L Utan Spröjs Gun metal 76x95x88(1845-1875) 

DEL769588SGKL 7311801 Empire L Med Spröjs Gun metal 76x95x88(1845-1875) 

DEL769598GKL 7311802 Empire L Utan Spröjs Gun metal 76x95x98(1945-1975) 

DEL769598SGKL 7311803 Empire L Med Spröjs Gun metal 76x95x98(1945-1975) 

DEL867578GKL 7311804 Empire L Utan Spröjs Gun metal 86x75x78(1545-1575) 

DEL867578SGKL 7311805 Empire L Med Spröjs Gun metal 86x75x78(1545-1575) 

DEL867588GKL 7311807 Empire L Utan Spröjs Gun metal 86x75x88(1645-1675) 

DEL867588SGKL 7311808 Empire L Med Spröjs Gun metal 86x75x88(1645-1675) 

Item no RSK Description 

DEL867598GKL 7311809 Empire L Utan Spröjs Gun metal 86x75x98(1745-1775) 

DEL867598SGKL 7311810 Empire L Med Spröjs Gun metal 86x75x98(1745-1775) 

DEL868578GKL 7311811 Empire L Utan Spröjs Gun metal 86x85x78(1645-1675) 

DEL868578SGKL 7311812 Empire L Med Spröjs Gun metal 86x85x78(1645-1675) 

DEL868588GKL 7311813 Empire L Utan Spröjs Gun metal 86x85x88(1745-1775) 

DEL868588SGKL 7311815 Empire L Med Spröjs Gun metal 86x85x88(1745-1775) 

DEL868598GKL 7311816 Empire L Utan Spröjs Gun metal 86x85x98(1845-1875) 

DEL868598SGKL 7311817 Empire L Med Spröjs Gun metal 86x85x98(1845-1875) 

DEL869578GKL 7311818 Empire L Utan Spröjs Gun metal 86x95x78(1745-1775) 

DEL869578SGKL 7311819 Empire L Med Spröjs Gun metal 86x95x78(1745-1775) 

DEL869588GKL 7311820 Empire L Utan Spröjs Gun metal 86x95x88(1845-1875) 

DEL869588SGKL 7311821 Empire L Med Spröjs Gun metal 86x95x88(1845-1875) 

DEL869598GKL 7311823 Empire L Utan Spröjs Gun metal 86x95x98(1945-1975) 

DEL869598SGKL 7311824 Empire L Med Spröjs Gun metal 86x95x98(1945-1975) 

DEL967578GKL 7311825 Empire L Utan Spröjs Gun metal 96x75x78(1545-1575) 

DEL967578SGKL 7311826 Empire L Med Spröjs Gun metal 96x75x78(1545-1575) 

DEL967588GKL 7311827 Empire L Utan Spröjs Gun metal 96x75x88(1645-1675) 

DEL967588SGKL 7311828 Empire L Med Spröjs Gun metal 96x75x88(1645-1675) 

DEL967598GKL 7311829 Empire L Utan Spröjs Gun metal 96x75x98(1745-1775) 

DEL967598SGKL 7311831 Empire L Med Spröjs Gun metal 96x75x98(1745-1775) 

DEL968578GKL 7311832 Empire L Utan Spröjs Gun metal 96x85x78(1645-1675) 

DEL968578SGKL 7311833 Empire L Med Spröjs Gun metal 96x85x78(1645-1675) 

DEL968588GKL 7311834 Empire L Utan Spröjs Gun metal 96x85x88(1745-1775) 

DEL968588SGKL 7311835 Empire L Med Spröjs Gun metal 96x85x88(1745-1775) 

DEL968598GKL 7311836 Empire L Utan Spröjs Gun metal 96x85x98(1845-1875) 

DEL968598SGKL 7311837 Empire L Med Spröjs Gun metal 96x85x98(1845-1875) 

DEL969578GKL 7311838 Empire L Utan Spröjs Gun metal 96x95x78(1745-1775) 

DEL969578SGKL 7311839 Empire L Med Spröjs Gun metal 96x95x78(1745-1775) 



 

  21  Empire shower enclosure range Created with One Click LCA 

Item no RSK Description 

DEL969588GKL 7311840 Empire L Utan Spröjs Gun metal 96x95x88(1845-1875) 

DEL969588SGKL 7311841 Empire L Med Spröjs Gun metal 96x95x88(1845-1875) 

DEL969598GKL 7311842 Empire L Utan Spröjs Gun metal 96x95x98(1945-1975) 

DEL969598SGKL 7311843 Empire L Med Spröjs Gun metal 96x95x98(1945-1975) 

DENI102GKL 7270616 Empire Nisch Utan Spröjs Gun metal 1020-1049 

DENI102SGKL 7270617 Empire Nisch Med Spröjs Gun metal 1020-1049 

DENI82GKL 7270618 Empire Nisch Utan Spröjs Gun metal 820-849 

DENI82SGKL 7270619 Empire Nisch Med Spröjs Gun metal 820-849 

DENI92GKL 7270620 Empire Nisch Utan Spröjs Gun metal 920-949 

DENI92SGKL 7270621 Empire Nisch Med Spröjs Gun metal 920-949 

DESA156GKL 7270622 Empire Saloon Utan Spröjs Gun metal 1560-1589 

DESA156SGKL 7270623 Empire Saloon Med Spröjs Gun metal 1560-1589 

DESA176GKL 7270624 Empire Saloon Utan Spröjs Gun metal 1760-1789 

DESA176SGKL 7270625 Empire Saloon Med Spröjs Gun metal 1760-1789 

DESA196GKL 7270626 Empire Saloon Utan Spröjs Gun metal 1960-1989 

DESA196SGKL 7270627 Empire Saloon Med Spröjs Gun metal 1960-1989 

DESK75GKL 7377778 Empire Vägg 75 Gun metal Klarglas Utan spröjs 

DESK75SGKL 7377779 Empire Vägg 75 Gun metal Klarglas Avtagbara spröjs 

DESK85GKL 7377780 Empire Vägg 85 Gun metal Klarglas Utan spröjs 

DESK85SGKL 7377781 Empire Vägg 85 Gun metal Klarglas Avtagbara spröjs 

DESK95GKL 7377782 Empire Vägg 95 Gun metal Klarglas Utan spröjs 

DESK95SGKL 7377783 Empire Vägg 95 Gun metal Klarglas Avtagbara spröjs 

DESKD78GKL 7270628 Empire Dörr 78 Gun metal klarglas  

DESKD78SGKL 7270629 Empire Dörr 78 Gun metal klarglas Avtagbara spröjs 

DESKD88GKL 7270630 Empire Dörr 88 Gun metal klarglas  

DESKD88SGKL 7270631 Empire Dörr 88 Gun metal klarglas Avtagbara spröjs 

DESKD98GKL 7270632 Empire Dörr 98 Gun metal klarglas  

DESKD98SGKL 7270633 Empire Dörr 98 Gun metal klarglas Avtagbara spröjs 

Item no RSK Description 

DESW1010GKL 7311844 Empire Swing 99x99 Gun metal Klarglas Utan spröjs 

DESW1010SGKL 7311845 Empire Swing 99x99 Gun metal Klarglas Avtagbara spröjs 

DESW1080GKL 7311846 Empire Swing 99x79 Gun metal Klarglas Utan spröjs 

DESW1080SGKL 7311847 Empire Swing 99x79 Gun metal Klarglas Avtagbara spröjs 

DESW1090GKL 7311849 Empire Swing 99x89 Gun metal Klarglas Utan spröjs 

DESW1090SGKL 7311850 Empire Swing 99x89 Gun metal Klarglas Avtagbara spröjs 

DESW8010GKL 7311851 Empire Swing 79x99 Gun metal Klarglas Utan spröjs 

DESW8010SGKL 7311852 Empire Swing 79x99 Gun metal Klarglas Avtagbara spröjs 

DESW8080GKL 7311853 Empire Swing 79x79 Gun metal Klarglas Utan spröjs 

DESW8080SGKL 7311854 Empire Swing 79x79 Gun metal Klarglas Avtagbara spröjs 

DESW8090GKL 7311855 Empire Swing 79x89 Gun metal Klarglas Utan spröjs 

DESW8090SGKL 7311856 Empire Swing 79x89 Gun metal Klarglas Avtagbara spröjs 

DESW9010GKL 7311857 Empire Swing 89x99 Gun metal Klarglas Utan spröjs 

DESW9010SGKL 7311858 Empire Swing 89x99 Gun metal Klarglas Avtagbara spröjs 

DESW9080GKL 7311859 Empire Swing 89x79 Gun metal Klarglas Utan spröjs 

DESW9080SGKL 7311860 Empire Swing 89x79 Gun metal Klarglas Avtagbara spröjs 

DESW9090GKL 7311861 Empire Swing 89x89 Gun metal Klarglas Utan spröjs 

DESW9090SGKL 7311862 Empire Swing 89x89 Gun metal Klarglas Avtagbara spröjs 

DESWN7578GKL 7270634 Empire swing Nisch Utan Spröjs Gun metal 75x78(153-156) 

DESWN7578SGKL 7270635 Empire swing Nisch Med Spröjs Gun metal 75x78(153-156) 

DESWN7588GKL 7270636 Empire swing Nisch Utan Spröjs Gun metal 75x88(163-166) 

DESWN7588SGKL 7270637 Empire swing Nisch Med Spröjs Gun metal 75x88(163-166) 

DESWN7598GKL 7270638 Empire swing Nisch Utan Spröjs Gun metal 75x98(173-176) 

DESWN7598SGKL 7270639 Empire swing Nisch Med Spröjs Gun metal 75x98(173-176) 

DESWN8578GKL 7270640 Empire swing Nisch Utan Spröjs Gun metal 85x78(163-166) 

DESWN8578SGKL 7270641 Empire swing Nisch Med Spröjs Gun metal 85x78(163-166) 

DESWN8588GKL 7270642 Empire swing Nisch Utan Spröjs Gun metal 85x88(173-176) 

DESWN8588SGKL 7270643 Empire swing Nisch Med Spröjs Gun metal 85x88(173-176) 



 

  22  Empire shower enclosure range Created with One Click LCA 

Item no RSK Description 

DESWN8598GKL 7270644 Empire swing Nisch Utan Spröjs Gun metal 85x98(183-186) 

DESWN8598SGKL 7270645 Empire swing Nisch Med Spröjs Gun metal 85x98(183-186) 

DESWN9578GKL 7270646 Empire swing Nisch Utan Spröjs Gun metal 95x78(173-176) 

DESWN9578SGKL 7270647 Empire swing Nisch Med Spröjs Gun metal 95x78(173-176) 

DESWN9588GKL 7270648 Empire swing Nisch Utan Spröjs Gun metal 95x88(183-186) 

DESWN9588SGKL 7270649 Empire swing Nisch Med Spröjs Gun metal 95x88(183-186) 

DESWN9598GKL 7270650 Empire swing Nisch Utan Spröjs Gun metal 95x98(193-196) 

DESWN9598SGKL 7270651 Empire swing Nisch Med Spröjs Gun metal 95x98(193-196) 

DEH1010GLI 7311863 Empire Hörna 99x99 Gun metal Linjeglas 

DEH1080GLI 7311864 Empire Hörna 99x79 Gun metal Linjeglas 

DEH1090GLI 7311865 Empire Hörna 99x89 Gun metal Linjeglas 

DEH8080GLI 7311866 Empire Hörna 79x79 Gun metal Linjeglas 

DEH9080GLI 7311867 Empire Hörna 89x79 Gun metal Linjeglas 

DEH9090GLI 7311868 Empire Hörna 89x89 Gun metal Linjeglas 

DEL767578GLI 7311869 Empire L Gun metal Linjeglas 76x75x78(1545-1575) 

DEL767588GLI 7311870 Empire L Gun metal Linjeglas 76x75x88(1645-1675) 

DEL767598GLI 7311871 Empire L Gun metal Linjeglas 76x75x98(1745-1775) 

DEL768578GLI 7311872 Empire L Gun metal Linjeglas 76x85x78(1645-1675) 

DEL768588GLI 7311873 Empire L Gun metal Linjeglas 76x85x88(1745-1775) 

DEL768598GLI 7311874 Empire L Gun metal Linjeglas 76x85x98(1845-1875) 

DEL769578GLI 7311875 Empire L Gun metal Linjeglas 76x95x78(1745-1775) 

DEL769588GLI 7311876 Empire L Gun metal Linjeglas 76x95x88(1845-1875) 

DEL769598GLI 7311877 Empire L Gun metal Linjeglas 76x95x98(1945-1975) 

DEL867578GLI 7311878 Empire L Gun metal Linjeglas 86x75x78(1545-1575) 

DEL867588GLI 7311879 Empire L Gun metal Linjeglas 86x75x88(1645-1675) 

DEL867598GLI 7311880 Empire L Gun metal Linjeglas 86x75x98(1745-1775) 

DEL868578GLI 7311881 Empire L Gun metal Linjeglas 86x85x78(1645-1675) 

DEL868588GLI 7311882 Empire L Gun metal Linjeglas 86x85x88(1745-1775) 

Item no RSK Description 

DEL868598GLI 7311883 Empire L Gun metal Linjeglas 86x85x98(1845-1875) 

DEL869578GLI 7311884 Empire L Gun metal Linjeglas 86x95x78(1745-1775) 

DEL869588GLI 7311885 Empire L Gun metal Linjeglas 86x95x88(1845-1875) 

DEL869598GLI 7311886 Empire L Gun metal Linjeglas 86x95x98(1945-1975) 

DEL967578GLI 7311887 Empire L Gun metal Linjeglas 96x75x78(1545-1575) 

DEL967588GLI 7311888 Empire L Gun metal Linjeglas 96x75x88(1645-1675) 

DEL967598GLI 7311889 Empire L Gun metal Linjeglas 96x75x98(1745-1775) 

DEL968578GLI 7311890 Empire L Gun metal Linjeglas 96x85x78(1645-1675) 

DEL968588GLI 7311891 Empire L Gun metal Linjeglas 96x85x88(1745-1775) 

DEL968598GLI 7311892 Empire L Gun metal Linjeglas 96x85x98(1845-1875) 

DEL969578GLI 7311893 Empire L Gun metal Linjeglas 96x95x78(1745-1775) 

DEL969588GLI 7311894 Empire L Gun metal Linjeglas 96x95x88(1845-1875) 

DEL969598GLI 7311895 Empire L Gun metal Linjeglas 96x95x98(1945-1975) 

DENI102GLI 7270652 Empire Nisch Gun metal Linjeglas 1020-1049 

DENI82GLI 7270653 Empire Nisch Gun metal Linjeglas 820-849 

DENI92GLI 7270654 Empire Nisch Gun metal Linjeglas 920-949 

DESA156GLI 7270655 Empire Saloon Gun metal Linjeglas 1560-1589 

DESA176GLI 7270656 Empire Saloon Gun metal Linjeglas 1760-1789 

DESA196GLI 7270657 Empire Saloon Gun metal Linjeglas 1960-1989 

DESK75GLI 7377784 Empire Vägg 75 Gun metal Linjeglas 

DESK85GLI 7377785 Empire Vägg 85 Gun metal Linjeglas 

DESK95GLI 7377786 Empire Vägg 95 Gun metal Linjeglas 

DESKD78GLI 7270658 Empire Dörr 78 Gun metal Linjeglas  

DESKD88GLI 7270659 Empire Dörr 88 Gun metal Linjeglas  

DESKD98GLI 7270660 Empire Dörr 98 Gun metal Linjeglas  

DESW1010GLI 7311896 Empire Swing 99x99 Gun metal Linjeglas 

DESW1080GLI 7311897 Empire Swing 99x79 Gun metal Linjeglas 

DESW1090GLI 7311898 Empire Swing 99x89 Gun metal Linjeglas 



 

  23  Empire shower enclosure range Created with One Click LCA 

Item no RSK Description 

DESW8010GLI 7311899 Empire Swing 79x99 Gun metal Linjeglas 

DESW8080GLI 7311900 Empire Swing 79x79 Gun metal Linjeglas 

DESW8090GLI 7311901 Empire Swing 79x89 Gun metal Linjeglas 

DESW9010GLI 7311902 Empire Swing 89x99 Gun metal Linjeglas 

DESW9080GLI 7311903 Empire Swing 89x79 Gun metal Linjeglas 

DESW9090GLI 7311904 Empire Swing 89x89 Gun metal Linjeglas 

DESWN7578GLI 7270661 Empire swing Nisch Gun metal Linjeglas 75x78(153-156) 

DESWN7588GLI 7270662 Empire swing Nisch Gun metal Linjeglas 75x88(163-166) 

DESWN7598GLI 7270663 Empire swing Nisch Gun metal Linjeglas 75x98(173-176) 

DESWN8578GLI 7270664 Empire swing Nisch Gun metal Linjeglas 85x78(163-166) 

DESWN8588GLI 7270665 Empire swing Nisch Gun metal Linjeglas 85x88(173-176) 

DESWN8598GLI 7270666 Empire swing Nisch Gun metal Linjeglas 85x98(183-186) 

DESWN9578GLI 7270667 Empire swing Nisch Gun metal Linjeglas 95x78(173-176) 

DESWN9588GLI 7270668 Empire swing Nisch Gun metal Linjeglas 95x88(183-186) 

DESWN9598GLI 7270669 Empire swing Nisch Gun metal Linjeglas 95x98(193-196) 

 


